kg/10a kg/10a
7.5kg/10a 10kg/10a 23kg/10a
17 20
1999 2002
kg/10
75 7.5kg/10
63 1,800kg 1,100kg/10 —+ 60
40 50
1,800kg/10a kg/10a )
80 45
1.7kg
kg/10 kg/10
80 45
kg/10a kg/10a )
kg/10 kg/10 kg/10 = ()
kg/10 ( kg/10a kg/10a)—=-80 kg/10a ()
kg/10 ( kg/10a kg/10a)—=-45 kg/10a
kg/10a
kg 10 kg/10a kg

/10a



12kg/10

kg/ 10
66 1,400kg 900kg/10 —= 64
20
1,400kg/10a kg/10a
40 30
kg
kg/10 kg/10
40 30
7.5kg/10a 10kg/10a « )
( kg/10a kg/10a)—=-40 7.5kg/10a ( )
( kg/10a kg/10a)—=-30 10kg/10a
10kg/10a
kg 10 kg/10a 10kg
/10a
16.6kg/ 10
66 2,300kg 1,800kg/10 =
78
2,300kg/10a 12kg/10a
30 15
kg
12kg/10 kg/10
30 15
23kg/10a 47kg/10a o )
(12kg/10a kg/10a)—=-30 23kg/10a ()
(12kg/10a kg/10a)—=-15 47kg/10a
23kg/10a
12kg 10 11kg/10a



1999 2000 2001 2002

(kg/10 )
0 661 53 338 13 663 26 397 13
40 6 1,091 87
50 7.5 1,966 75
60 9 1,530 122
80 . 12 . L P
( ) 15 1,251  (100) 2,610  (100) 2,513  (100) 3,052  (100)
O 2,320 89 2,795 111 2,345 7
10 2,487 95 3,132 125 2,879 94
1)1999 1 16 3 9
2000 2 23 4 13
2001 1 30 4 5
2002 1 31 4 8
2) 120cm 60cm
3) kg/10
) 3,500 o
~ 12 15kg/10a( ) 3 000 255x 353
3 10 | ’ 0.946"
28 g 2,500
6 S 2,000 [ 1,800kg/10a 7
4 < '
1,500 : 1999
2 | 1,000 ! 2000
0 ! a 2001
0 20 40 60 80 500 | " R° i ©2002
( ) 0 L
0 2 4 6 8 10 12
)2001 (kg/10a)
1)
%) (kg/10a)
(kg/10a) 1999 2000 2001 2002 1999 2000 2001 2002
0 2.17 1.23  2.35 1.18  1.73
40 6 21.8 " 218 4.35 4.35
50 7.5 68.4 " 68.4 6.36 6.36
60 9 17.4 " 17.4 4.78 4.78
80 12 14,8 T8 512 5.12
( ) 15 12.2  55.6  46.8  61.2  44.0 5.21 9.57 9.37 10.36  8.63
T 7.5 89.5  94.7 84.7 8.6 7.04  9.45  ; 7.53  8.31
10 76.4  83.0  78.1  79.2 8.87 10.65  8.99 9.5
1)
2)

( )=+ =100



mg/100g

8 ~
0 2 4 6 810 u}
0 2 4 6 810 - 12kg/10  ( y
o .
<6 T
2
9kg/10 ~ o, L2000
--4a---2001
2 -
—o—2002
0 J
(1999 ) 0 10 20 30 40
1 0-15 15-30 30-45 45-60 60-75 ()
75-90cm
2)
2000 2001 2002
(kg/10a)
0 1,510 60 634 34 784 57
50 6 1,760 70
N 230 A
( ) 12 2,529 (100) 1,869 (100) 1,377 (100)
s T 5 7300772 T
1 6 1,599 86 1,213 88
2 8 2,126 84 1,807 97 1,296 94
1) 2000 8 8 9 8
2001 8 24 9 27
2002 8 23 9 24
2) 120cm 60cm
3) kg/10
(%) (kg/10a)
(kg/10a) 2000 2001 2002 2000 2001 2002
0 3.81 2.49 3.15 3.15
50 6 12.2 12.2 4.54 4.54
. . .. 263 &8 6.18 _
( 12 24.2 41.3 23.3 29.6 6.71 7.45 5.94 6.70
128% 15 1.6 " sg T 5.85
1 6 62.8 55.2 59 6.26 6.46 6.36
2 25 54.8 41.9 40.6 5.81 6.87 6.50 6.39
9
2)

( )+ > 100



(mg 1009)

3,000
0 2 4 6 8 10 0 2 4 6 8 10
2,500 : T T T | T T T T 1
§ 2,000 9kg/10a
£ 1,500 @@s% )
1,000
500
0
0 2 4 6 8 10 (2000 )
(kg/102) 1) 0-15 15-30 30-45 45-60
60-75 75-90cm
1) 2)
1999 2000 2001 2002
(kg/10a)
0 594 39 1822 78 996 63 967 50
40% 10 1262 82
50% 12.5 2551 109
60% 15 1373 89
8% o ____...20 1426 92 .. _ 1987 1587 _ ...
( 25 1542 2332 1921
ie e o o e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e mmmm e e e mmmmmmmmmmmmmmmmmmmmmm—————-
10 1325 83
12.5 2430 104 1847 96
13.2 1285 81
16.6 2668 114 2114 110
1)1999 10 6 11 24
2000 10 12 12 13
2001 10 15 12 18
2002 10 11 11 28
2) 120cm 60cm
3) kg/10
(%) (kg/10a)
(kg/10a) 1999 2000 2001 2002 1999 2000 2001 2002
0 2.2 8.6 5.1 4.5 5.1
40% 10 21.8 21.8 4.4 4.4
50% 12.5 25.7 25.7 11.8 11.8
60% 15 17.4 17.4 4.8 4.8
8% _________20___148__________ 8.4 ________. 16.6_____ 5.1 8.8 __________ 7.0 _
( ) 25 12.2 8.7 19.8 13.6 5.2 10.8 9.4 8.5
e - 37.4 295 113 9.2  10.2
12.5 26.3 36.3 31.3 13.0 10.5 11.7
13.2 23.5 23.5 7.5 7.5
16.6 19.3 19.3 7.7 7.7
1
2)

( )+ ><100



(kg/10a)

=
N

=
o

o N B~ O ©

11

3,000 N
2,500 | _2,300kg/10a _________ ASMAT .
= T
S 2,000 | Y=176.6x+299 H
S R’=0.8775 i
< 1,500 H
41999
1,000 | 42000
500 | 4 2001
$2002
0 - -
0 10 15
(kg/10a)
)
+= 1
mg/100g
0 5 10 15 0 5 10 15
16.6kg/10a
(2002 )
1) 0-15 15-30 30-45 45-60 60-
75 75-90cm
2)




